@FLUW DESIGNS

Q PLATE SIX-DIGIT HERITAGE NUMBER PLATE BRACKET /) )\ ))'
o)

/@) =
@@ G

[l LOV/



INSTALLATION DIAGRAM - STEP 1
MOUNTING QPLATE SIX-DIGIT HERITAGE NUMBER PLATE BRACKET TO VEHICLE

J

OPTION 2a

OPTIONAL DOUBLE SIDED TAPE

To use Double Sided Tape as padding
inbetween bracket and vehicle, apply primer

INSTALLATION GUIDE

to back of Number Plate Bracket.

Apply double sided tape tocfrimed area. Only

use one side of tape to adhere to bracket.
| J

OPTIONAL STAND OFF SPACER

Insert mounting bolt / screw through number
plate bracket in desired slot then push bolt
through optional spacer.

+ Remove existing number plate from
vehicle.

For vehicles with existing
+ Choose Bracket Mounting Option to suit
vehicle.

“ screw holes, mount bracket
\ through these holes using
Option 2a without washers.
Q Q
- Option 1 (M6 Connector Bolts)

- Option 2 (10g Screws) &
- Option 3 (M5 Bolts - Mercedes Rear) %\\\\\\\\\\\\

Install spacer with teeth facing inside towards
number plate bracket. Add additional spacers
if desired.

J

+ Select cprrect Iength bo]t / screw (a or ‘ OPTION 3 - MERCEDES
b) to suit Mounting Option. Use shorter REAR MOUNTING
bolts / screws if spacers are not used. For Mercedes Ben: Rear number

G p! at_e, align ani use these

+ Insert bolt / screw through number m mountlglgdgglg?bhfamgon both
plate bracket and optional spacer then g
align to vehicle. 1 HANDY HINTS

+ Tighten Mounting bolts / screws to Use provided washer when using screw | _
secure number plate bracket to vehicle. | \ ounting Option. J &

7/ ( HANDY HINTS

Mount bolts / screw through slots to suit
factory mounting holes on vehicle.
Choose slots to suit desired number

BRACKET FITTI NG KIT plate position. )

Vs

DOUBLE SIDED
[ opTioN 1b Thee
NNECTOR NNECTOR 10G X 25MM 10G X 38MM MG REAR B OORE
N N SELF-TAPPING SELF-TAPPING CONNECTOR BOLT STAND OFF SIDED TAPE
BLACK STAINLESS BLACK STAINLESS SCREW SCREW BLACK STAINLESS | "7 | SPACER X4
M6 X 20MM M6 X 30MM 16mm WASHER 16mm WASHER M5 X 20MM PRI*I\-IIER
X2 X4 X4 X1




INSTALLATION DIAGRAM - STEP 2
MOUNTING NUMBER PLATE TO QPLATE SIX-DIGIT HERITAGE NUMBER PLATE BRACKET

INSTALLATION GUIDE

+ Choose Plate Mounting Option:
- Option 1 (6mm Dress Bolt)
- Option 2 (6mm Security Bolt)
- Option 3 (6mm White Bolts)

+ Insert bolt through Heritage number
plate, then align and mount to number
plate bracket.

+ Tighten Plate Mounting bolts to secure
number plate to bracket.

Optional White 6mm Bolts can be used
to match white number plate.

NUMBER PLATE FITTING KIT

OPTIONAL DOUBLE SIDED TAPE

To use Double Sided Tape to mount to
bracket, apply primer to back of number plate
and face of number plate bracket.

Apply double sided tape to primed area
before peeling tape backing.

]

DRESS BOLT SECURITY BOLT
BLACK STAINLESS 2 BLACK STAINLESS
M4 X 6MM M4 X 6MM

X4 X4

w®
w®

DRESS BOLT

WHITE STAINLESS
M4 X 6MM

X2

| DOUBLE SIDED TAPE
| SioeoTarE
TN || x4
M4 X 6MM N

PRIMER
X2 X 1




L X v X ¢X ¢X

1w gmoxym, Bl e xpw, =L
JIANIYd |, (=) (=)
we [ giggianod 1108 ALI¥NI3S 1708 ss3ya @
() WIOZ X SW = =
ININS X PIN = ININ9 X 7IN =
d:lugg\r(lefs @ SSIINIVLS Xdv1d SSTINIVLS YoV 1d SSTINIVLS Ov1d
1108 ¥40.L9INNOD 1108 ALINND3S 1109 $s3¥a
dv3Y ZN3g
SE(QERNELL)
YIHSYM wwgt YIHSYM wwigt E
+ +
L X L X aNlﬁAgvuf-gﬂs BNl’X\gvuf-gus
ININSE X 901 WINSZ X 901
AIM NIV AIM NIV
INING"C WINY Z X
ININOE X 9N ININOZ X 9N
\ \ SSITINIVLS MIVvi9 SSITINIVLS MDVv19

1704 1704
dO1dINNOD YOL1I3INNOD

L X

13XDvyg 11v1d 339NN
39VLIY3H LI9Ia-XIS 11v1dD

(A131v¥vd3as a10s) SI1¥0SSIDIV TYNOILAO L 1517 S14vd )

( 13HDVHE 31v1d ¥3IENNN IDVLI¥H LIDIa-XIS ILY1dO
1IX ONILLId ANV 513dVd |




